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Menoufia University May Exam 2016
Faculty of Commerce (The English Section) Frist Level
Accounting Department L Te Terminology (Accounting)

Part [ : Accounting
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Menofya University
Faculty of Commerce

Terminology Part I Insurance Final Term Exam
. - e PR T
English Sec. 1* year 26 . 6. 2016 (2Hrs.for 2Parts)

Part IT Insurance ( exam time for part II is 60 minutes )
The Professor did not agree on the use of Mobile

Q. 1) Find the meaning in English (2.5 degree )

C&F
Cost of Risk

Peril
F.O.B.

Hazard
Pure Risk

Civil Commotion
Exposure to Risk

F.P.A.
Safe Arrival

Q. 2) Rewrite the following Words &Translate to Arabic ( 25 words ) 2.5 degrees

* Current Account

* Average Statement

* Notice of Cancellation
* Floating Policy

* Insurance Broker

* Premium

* Condition of Average
* Insurance Contract
* Physical Hazard

* Guarantee

* Due * Damage Repairs

* Depreciation * Damage by Explosion
* Freight * Fraction

* Guaranteed Creditor * Carrier

* Arbitration
* Bill of Entry
* Co-Insurance

* Declaration
* Delivery Order
* In Force

* Cover Note
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Part II Insurance ( exam time for part II is 60 minutes )
The Professor did not agree on the use of Mobile

Q.1) 3degrees

Define Insurance and how it operate ?

Q. 2) Find the meaning in English ( 5 terms ) 1.5 degrees

C&F Peril Physical Hazard Morale Hazard F.P. A.

Q. 3) Rewrite the following words &Translate to Arabic (15 words ) 1.5 degrees

* Freight * Fraction * Guarantee

* Guaranteed Creditor * Carrier * Declaration
* Sub-Agent * Arbitration * Bill of Sale
* Current Account * Premium * Arbitration
* Average Statement * Condition of Average * Bill of Entry
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Faculty of Commerce,
' Accounting Department, English Section.
Time: 2 Hours. (number of pages: Two) June, 2016

Cost Accounting 2 (code: 2301) Final Exam, Spring Semester, 3" Year Students.
(Answer the following questions & Indicate all the necessary calculations)
Question 1: ( 5 marks)
Mount Carmel Company sells only two products, Product A and Product B.
Product A Product B Total

Selling price $40 $50
Variable cost per unit $24 $40
Total fixed costs $840,000

Mount Carmel sells two units of Product A for each unit it sells of Product B. Mount Carmel faces a tax
rate of 30%.

Required:

a.What is the breakeven point in units for each product assuming the sales mix is 2 units of Product A
for each unit of Product B?

b.What is the breakeven point if Mount Carmel’s tax rate is reduced to 25%, assuming the sales mix is 2
units of Product A for each unit of Product B?

c.How many units of each product would be sold if Mount Carmel desired an after-tax net income of
$73,500, facing a tax rate of 30%?

Question 2: (5 marks)

Alfred, owner of Hi-Tech Fiberglass Fabricators, Inc., is interested in using the reciprocal allocation
method. The following data from operations were collected for analysis:

Budgeted manufacturing overhead costs:

Plant MaintenancePM (Support Dept) $350,000
Data Processing DP (Support Dept) $ 75,000
Machining M (Operating Dept) $225,000
Capping C (Operating Dept) $125,000
Services furnished:
By Plant Maintenance (budgeted labor-hours):
to Data Processing 3,500
to Machining 5,000
to Capping 8,200
By Data Processing (budgeted computer time):
to Plant Maintenance 600
to Machining 3,500
to Capping 600
_Required: What is the total costste per , and the per labor-hour of each of the operating departments?

......................................................................................................................................................... continue.
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Qestion 3: (5 marks)
( A )Explain the difference between a joint product and a byproduct. Can a byproduct ever become
ajoint product?
(B ) In your view, What are the reasons that joint costs should be allocated to individual products or
services?
( C)Farah's Food manufacturing Inc., processes the mango fruit into three products: A, B, and C. During
February, the joint costs of processing were $240,000. Production and sales value information for the month

isas follows:
lioduct Units Produced Sales Value at Splitoff Point
{ A 6,000 liters $60,000
=B 6,000 liters 50,000
[=Ese 3,000 liters 25,000
f the physical-measure method is

Required: Determine the amount of joint cost allocated to each product i

used.
end of the question

Best Wishes /{//‘
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Menoufia University

Faculty of Commerce Final Exam 2015-2016

Year one _ English section Partnership Accounting 12-6-2016
Answer the following questions
Question 1 (4.5 grades, 35 minutes)

Mohamed and Samir have a partnership agreement which includes the following
provisions regarding sharing net income or net loss: A salary allowance of $40,000 to
Mohamed and $45,000 to Samir. An interest allowance of 5% on capital balance at
the beginning of the year. The remainder to be divided 60% to Mohamed and 40% to
Samir.

The capital balance on January 1, 2010, for Mohamed and Samir was $200,000 and
$220,000, respectively. The drawings during the year are 20000 for Mohamed and
30000 for Samir. During 2010, the Mohamed and Samir Partnership had total sales of
$800,000, cost of goods sold of $300,000, sales return and allowance 100000,
operating expenses of $100,000, and other gains of 50000.

Instructions
1.Prepare an income statement for the Mohamed and Samir Partnership

2. Indicate the division of net income to each partner and prepare the entry to
distribute the net income.

3. Prepare the partners’ capital statement for the year.
Question 2 (2.5 grades, 20 minutes)

Samy and Amr share partnership income on a 3:2 basis. They have capital balances of
$560,000 and $280,000, respectively, when Aly is admitted to the partnership.

Instructions

Prepare the journal entry to record the admission of Aly under each of the following
assumptions:

1. Aly invests $320,000 for a 25% ownership interest.
2. Aly invests $220,000 for a 25% ownership interest.

3. Aly invests an amount that gives him a 25% ownership interest.




Question 3 (4 grades, 35 minutes)

The Atlas Company at December 31, 2012 has cash $50,000, noncash assets $250,000,

liabilities $138,000, and the following capital balances: Ahmed $112,000 and Hatem

$50,000. The firm is liquidated, and $265,000 in cash is received for the noncash assets.
Ahmed and Hatem income ratios are 60% and 40%, respectively.

Instructions
1.Prepare the schedule of cash payments.
2.Prepare the entries to record the liquidation of a partnership.
Question 4 (2 grades, 15 minutes)

Hala, Ahlam, and Maha have capital balances of $150,000, $100,000, and $75,000,
respectively, and their income ratios are 2:1:3.

Instructions

Record the withdrawal of Maha from the partnership under each of the following
assumption:

1.Maha is paid $93,000 from partnership assets.
2. Hala purchased Maha's capital interest with the amount of $70000.
Question 5 (2 grades, 15 minutes)

Hamilton and Rossi decide to form a partnership. Hamilton invests $35,000 cash,
$150000 building with an accumulated depreciation of 50000, and accounts
receivable of $30,000 with allowance for doubtful accounts of $2,000. Rossi
contributes $25,000 cash, $30000 notes receivable and equipment having a $6,000
book value. It is agreed that the allowance account should be $3,000 and the fair
value of the equipment is $10,000 and notes receivable is 24000.

Instructions

Prepare the necessary journal entry to record the formation of the partnership.

With our best wishes

Prof. dr. Radwan & Dr. Wahdan
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Accounting

Question 1 :( 4.5 marks)
Mohamed Ali opened his own law office on September 1, 2015. During the first month of operations, the following

transactions occurred.
Sep.1- invested LE 10,000 in cash in the law practice.
2~ Purchased office equipment on account LE 3,000.
9 - Provided legal services to clients for cash LE 1500 and on account LE 2000.
14 - Borrowed LE 700 cash from a bank on a note payable.
25 - Purchased tools for LE 1000 cash.
30 -Paid monthly expenses: rent LE 800, salaries LE 900, utilities LE 200, and telephone LE 100.
\Instructions:
( a )Prepare Journal entries for the month of September.
(b )frepare the income statement, owner’s equity statement, and balance sheet at september 31, for Mohamed Ali

Attorney at Law.

Question 2 :( 3 marks)
The trial balance of Ahmed Company shows the following accounts balance at 30 April, 2015:

Prepaid insurance LE 3600 - Equipment LE 28000 — Salaries LE 13500. Analysis reveals the following data:
1-Prepaid insurance is the cost of insurance policy for a 2-year, effective April 1.
2-Depreciation of the equipment is LE 500 per month.
3-Salaries per day are LE 500.

Instructions:

Prepare the adjusting entries for the month of April.

Good luck

Prof. Dr. Mohamed Zedan
D. Mohamed Abd-Elmaksoud

e



Menoufia university Final Exam, 2016
Faculty of commerce Course: O.B
Business Administration Dept. Time: Two hours
Date: 21-6-2016

Answer the following questions:

Part One: Define the following terms

1. Internal and external locus of control
2. Motivation and Equity sensitivity

3. Organizational socialization

4. Distributive and procedural justice
5. Conflict and negotiation

Part Two:

1. Identify the factors affecting ethical behavior?

2. List the seven habits of highly effective people?

3. Identify Kotter's steps for leading organizational change?
4. Identify barriers to manage diversity in organization?

Part Three:

1. Explain the five conflict-handling styles and how can managers
build cross-cultural relationship?

2. Explain ERG theory of motivation?

3. Explain the three phases model of organizational socialization?

Best wishes
Prof. Dr.Shawky

S — -
2/

&




Final Exam
Faculty of Commerce 2nd- term (2015/2016) 29/5/2016
Economic Department Course: Macro- Economics Time: 2 Hours
English Section First year

Answer the following questions and use graphs if possible:

Question One:
From the information in the table below, calculate the following concepts:

Personal consumption 1,344 a. Gross domestic product
Investment 456

Net nonbusiness interest income 270

Government purchases 480 b. Gross national product
Profit 406

Employse compensation L c. Net domestic product
Net exports 24

Rents 2

Depreciation ‘ 278 d. National income
Indirect business taxes 156

Corporate retained earnings 249

Net foreign factor income 5 e. Personal income
Interest 98

Social Security taxes 150 3 :
Transfer payments 300 f. Disposable personal income
Personal taxes 214

Statistical discrepancy 0

Question Two:

Compare between the following:

a) Recessionary and inflationary gaps and the impact of fiscal and monetary policies.

b) The cyclical, structural unemployment and potential output.

¢) Keynesian and classical policy for growth. What are the sources and policies for growth?
d) Assumptions of AS /AD models.

e) The multiplier and the marginal propensity to consume.

Question Three.

a) - When you deposit $10000 in your current account with 10% interest rate and 20%
rese'rve ratio. Calculate the final effect on money supply, credit loans, and the total of
| reserves.
| b) - Explain the case of synchronization between inflation and unemployment in an economy.




Question Four.
If you have the following data:

AS(GDP) | Government investment | Net exports | MPC
expenditure :
4150 150 12-5 - 150 0.75
| 4250
| 4350
4450
4650

4750 |

Calculate: The AD, consumption levels, the multiplier and economic equilibrium.
Then: If the government spending increased by= LE' 58What are its impacts on AD and the

new Equilibrium?

With our best wishes,

P}[ Dr. Sakr Ahmed Sakr Dr. Sayed Taha Dr. Wafaa Shehata
/4' g s L

//// e : -




Menofya University Risk Management Final Term Exam ( 2 Hrs. )
Faculty of Commerce English Sec. 1™ year date 16/6/2016

Exam Time is 120 minutes
The Professor did not agree on the use of Mobile

0.1) 6degrees :

Find the cost of a risk started Jan.I1*, 2016 to date if you have the

following :

< T.P.A. = L.E. 100,000 (B.V.) & M. V. is higher by the triple
of interest rate .

<> Your advise is "retain" L.E. 4500 and "buy" an insurance policy
to transfer 40% of each loss with upper limit L.E. 35000

<> A "Rent daily System" available with daily rent L.E. 22 to
reduce the cost of risk by 25%.

<> Loss Limits % ?-15 ?-? 40-? 60-? 80-?

<> Probability % 17 25 28 20 10

0.2) 3degrees :

Type the search of " Risk Management in Trains " .

0.3) 6degrees :

(a) From your study of risk management , Explain the following

table :
Method Cost of Method Cost of Risk
1 12217 450000
2 37217 450000
(b) Riskis definedas 1) ........2) cocevene 3) i ) vaes i

(¢) Distinguish between "Objective Risk" & "Subjective Risk"

(d) "Risk can be classified into several distinct categorize", Explain

“’m / (i I/\

VYW~



Menoufia University
Faculty of Commerce,
Dept. of Business Administration

Course: Principles of Marketing
Second Semester - Final Exam (May 2016)
Prof. Dr. Gamal Almorsy & Prof. Dr. Thabet Edrees

Q1. True or false statements - without comment (4 marks):

() Convenience products are less frequently purchased goods and services that customers
compare carefully on suitability, quality, price, and style.

() Market Segmentation can be applied only to consumer markets.

() Consumer buying behavior is the buying behavior of final consumers ( individuals and
households) who buy goods and services for personal consumption.

() Marketing stimuli consist of the four Ps: product, price, place, and promotion.

() Marketers are always trying to spot cuitural shifts so as to discover new products that
might be wanted

() Complex buying behavior occurs under conditions of low-consumer involvement and little
significant brand difference.

() The company should recognize and reward intermediaries who are performing well and
adding good value for consumers.

() Companies can set prices low to prevent competition from entering the market or set
prices at competitors’ levels to stabilize the market.

() The first stage of consumer buying behavior process starts with information search.

( ) Demographic segmentation divides buyers into different segments based on social class,
lifestyle, or personality characteristics.

() Atarget market consists of a set of buyers who share common needs or characteristics
that the company decides to serve.

() Undifferentiated marketing targets focuses on a small share of a large market. Itis an

appropriate marketing approach for limited company resources.

) Good-value pricing offers the right quality at a fair price.

) Variable costs are the cost that do not vary with the levels of production or sales.

) Direct marketing channels contain one or more intermediary levels; the company sells

through one or more intermediaries. .

() Personal selling is the short-term incentive to encourage the purchase of a product or

service. It includes discounts, coupons, displays, free samples,-and demonstrations.

Q.2 Complete each of the following statements by the right answers (7 marks):

2.1 Among the elements of the promotion mix are:
a-
b-
c-

o~~~

2.2 Channel management decisions require the following steps:
a-

b~

C-

d-

2.3 The distribution Channel levels include:

a-

b-

2.4 Consumer goods can be classified by how consumers buy them into the following:
a-

b-

&

d-



2.5 Companies need to consider many factors when choosing a market-targeting strategy.
Among these factors are:

a-

b-

c.

2.6 Market targeting can be carried out at several different levels as follows:

a-

b-

c-

2.7 Among the segmentation bases that can be used to segment the consumer market are:
a-

b-

Cc-

Q.3 Marketing Application (4 marks):
Ahmed Fathy opened his business in New Cairo City in 2010. He began by acquiring two

contracts for office cleaning services from two local companies. For two years, Ahmed
performed the cleaning services alone. After acquiring three additional cleaning contracts in
2013, he hired 2 employees. Up to that point, the business had a chance to grow, but without
advertising plan. he was relying mostly on word -of- mouth. By 2015. Ahmed hired 2 full time
employees to begin new endeavor, carpet cleaning in homes and offices. By that time
competition was getting tough, then Ahmed decided to run local radio spot three times each
week followed by an advertiser print coupons on placement which gave him and his business a
little more exposure. Ahmed may admit that he never realized the value of sound promotional
plan before. He wishes he would have put together something catchy before now.

Required:

1. Which elements of the promotional mix maybe effective for the business company?

2. |s the company effectively implementing integrated marketing communication?

3. What type of promotional appeal can enhance the company success? Why?

4. What is the right method of setting promotional budget for this type of business? Why?

GOOD LUCK

o~



Faculty of Commerce c=> First Year, Final Exam, 2" —semester 2015/2016
Course: Quantitative Analysis M,.,,.r,.,,,yw,m‘,,, Time: Two Hours Date: 2/6/2016

Answer ALL the following questions

Question One: (6 marks)

1. In quantitative analysis approach, business analytics is often broken into three categories:

a) Briefly define the quantitative analysis and write its approach steps without details?
b) Briefly discuss the three categories of business analytics?

2. Researcher aims to investigate the relationship between roadway surface temperature (x) and
pavement deflection (y). Summary quantities were computed for 20 observations of "x" and "y" as:
n=20,%x=357%y=110,Y(x — ¥)* = 1065, X(y — )?* = 78,X(x — X)(y — ) = 226.
Based on these summary quantities, answer the following questions:

a) Use the correlation coefficient to investigate the relation between "x" and "y"?

b) Estimate the regression coefficients with explaining its meanings?

c) Compute the coefficient of determination and explain its meaning?

d) In brief, what the difference between the correlation coefficient and the coefficient of
determination, and when can we use each one of them?

3. Company has three sources of production and three destinations. The shipping cost per unit, supply
and demand are provided in the following table:

Ol Destination 1 | Destination 2 | Destination 3 Supply
Source 1 $10 512 $10 200
Source 2 S12 $14 $13 250
Source 3 T.ri503 $11 $16 300
Demand 400 200 150 750

a) How to ship the units from the sources to destinations aiming to achieve minimum cost?
b) What is the total cost of transportation?
Question Two: (9 marks)

1. Person needs at least 60 units of carbohydrates, 45 units of protein and 30 units of fat each month.
His meal is composed of two types of foods: A and B. Each gram of food A contains 5 units of
carbohydrates, 3 units of protein and 4 units of fat. Each gram of food B contains 2 units of
carbohydrates, 2 units of protein and 1 unit of fat. Food A costs $1.3 per gram and food B costs
$0.80 per gram. It is required to determine how many grams of each type of food he should buy
each month in order to keep costs at a minimum while maintaining the minimum nutrition
contents mentioned above. Formulate the Linear Programming (LP) problem without solution?

2. Solve graphically: Maximize profit = $15X + $24Y

Subjectto: X+2Y <110 X+4Y <160 X,Y=20
3. For the LP problem: Maximize profit = $93X + $262Y
Subject to: 2X +5Y £ 150 3X+4Y <180 X,Y=z0

a) Solve the problem using Simplex method? b) Find the dual problem? c) Solve the dual problem?
4, Simplex method is used to solve LP problem with two decision variables "x" and "y", the following

table is the last table of the Simplex method to solve this problem:
Basic Variables X ¥ T C Constants
X 0 1 2 -1 70
> Y. 1 0 -0.75 0.5 35
-profit 0 0 -6 -3 -1230
Without detailed solution, use this table to find the last table of Simplex method to solve the dual

problem?
Wishing you All the best of luck,,,




Final Exam

Faculty of Commerce 2nd- term (2015/2016) 29/5/2016
Economic Department Course: Macro- Economics Time: 2 Hours
English Section First year

Answer the following questions and use graphs if possible:

Question One:
From the information in the table below, calculate the following concepts:

Personal consumption 1,344 a. Gross domestic product
Investment 456

Net nonbusiness interest income 270

Govemnment purchases 480 b. Gross national product
Profit 406

Employee compensation 1,520 ¢ Net: dormistic product
Net exports 24

Rents 2

Depreciation 278 d. National income
Indirect business taxes 156

Corporate retained earnings 249

Net foreign factor income 5 e. Personal income
Interest 98

Social Security taxes 150 ’ ]
Transfer payments 300 f. Disposable personal income
Personal taxes ‘ 214

Statistical discrepancy 0

Question Two:

Compare between the foliowing:
a) Recessionary and inflationary gaps and the impact of fiscal and monetary policies.
b) The cyclical, structural unemployment and potential output.
c) Keynesian and classical policy for growth. What are the sources and policies for growth?
d) Assumptions of AS /AD models.
e) The multiplier and the marginal propensity to consume.

Question Three.

a) - When you deposit $10000 in your current account with 10% interest rate and 20%
reserve ratio. Calculate the final effect on money supply, credit loans, and the total of
| reserves.

| b) - Explain the case of synchronization between inflation and unemployment in an economy.



Question Four.
If you have the following data:

AS(GDP) | Government investment | Net exports | MPC
expenditure 3
4150 150 13-5 -150 0.75
4250
4350
4450
4650
4750

Calculate: The AD, consumption levels, the multiplier and economic equilibrium.
Then: If the government spending increased by= LE' 58What are its impacts on AD and the
new Equilibrium?

With our best wishes,

7[ Dr. Sakr Ahmed Sakr Dr. Sayed Iaha Dr. Wafaa Shehata
/"/ i&-.-m -—
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